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Statics — Static Equilibrium Practice #3 — Internal Truss Forces Date Period

1.600.0

One grid line = 1 feet.

1. Draw a free body diagram for the above truss. Include the angles.
Label the points: A for the pin, B for the downward 1500 force, C for the roller, and D for the upper 600
force. Calculate the External Forces listed on the right.

2. Draw free body diagrams for each of the five joints, then calculate the internal truss forces.

Member A-B
Member B-C
Member C-D
Member A-D

Member B-D
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Ma=___ 0
Ms=___ -8000 ft-lbs
Mc=___ 4400 ft-lbs
Mp=___ 3600 ft-Ibs
Rax=___ 600 Ibs
1.000.0 Ray=___ 633.3Ibs
Rey=_ 366.7 Ibs
Ma= 0
Ma = -12000 ft-lbs
Mc= 8250 ft-lbs
Mp = 3750 ft-lbs
Ray = 750 Ibs
2.000.0 Ray = 1312.5 lbs
= 687.5 Ibs
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1.600.0

One grid line = 1 feet.

1. Draw a free body diagram for the above truss. Include the angles.
Label the points: A for the pin, B for the downward 1500 force, C for the roller, and D for the upper 600
force. Calculate the External Forces listed on the right.

= 600 Ibs
Free Body Diagrams will vary. 766.7 Ibs

Re,  733.31Ibs
Me  -9000 ft-Ibs

Me 6600 ft-Ibs
Mo 2400 ft-Ibs
2. Draw free body diagrams for each of the five joints, then calculate the internal truss forces.

Free Body Diagrams will vary.

Member A-B 550 Ibs
Member B-C 550 Ibs

Member C-D ﬂ
Member A-D %

Member B-D 1500 Ibs
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